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0.98 x20% =

2.12 x 60% =

6.8 x 10% =

7.17 x 60% =

5.43 x 30% =

7.34 x 50% =

2.1 x50% =

6.09 x 80% =

6.6 < 70% =

5.75 x20% =

3.74 x 90% =

7.81 x40% =

4.05 x 10% =

1 x70% =

2.7 x50% =

0.12 x 70% =

2.95 x50% =

521 x20% =

9.8 X 20% =

2.22 x20% =
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0.98 x20% = 0.196

2.12 x60% = 1.272

6.8 X 10% = 0.68

7.17 x 60% = 4.302

5.43 x30% = 1.629

7.34 x 50% = 3.67

2.1 x50% = 1.05

6.09 x 80% = 4.872

6.6 x 70% = 4.62

5.75 x20% = 1.15

3.74 x 90% = 3.366

7.81 x40% = 3.124

4.05 x 10% = 0.405

1 x70% = 0.7

2.7x50% = 1.35

0.12 x70% = 0.084

2.95 x50% = 1.475

5.21 x20% = 1.042

9.8 x20% = 1.96

2.22 x20% = 0.444
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